1. ¥(8%4
EH 4 AR 6 B LR 4 A E AT RS
BT ] Ly R[] L Al X P T 2

1) FEFEA SR 64 4H 7) LI fi] 1 11 Bk
2) HHHT4 R LR 5T BAFE F A il 8) #i X X
3) EEBES 20231124173400 9) I - B
4) B Sy HAEEE (Ml L 2&1) OnEs 10) #atEHA 4T 54E12H
5) AHEEK 11) BBH—EH 0%
6) JEITHIM 323 HIH H & 64 4712H 1 2) HALEHEHA S 64 4H
(447)  Hf T4 2H28H 1 3) HHhEHFH S 64 4H
(% mZEE) £ £ A A 14) niiEAEER M
15) R M
BGE EHNE
3. TERHA
1) THEHE 2) H 3) Bo#Hy 4) FEH

Fh E 7 G R



At YRR E

¥EBAL | AT 6 EER)I P IR A A ED ARG ES E RS
H H T RMMRGTIES
HH - TR - FHI - 5] g BANL & B o] B2t SEEHE B
FHRMARTER
= 1 10, 864, 100
FEDRMMRTIES
= 1 10, 864, 100
T RMMRFTIES

= 1 10, 864, 100

F 1 V(i N 1 =
= 1 169, 000

BRI AT W 2 5
= 1 431,700

FEDHR OB N 35
= 1 2,432, 800

HRT AR S S E DR W 4 =
= 1 3,072, 800

A LA O YEE R RE MR W 5 &
= 1 1, 788, 600

-1- [E 73 PEHTE R



At YRR E

¥EBAL | AT 6 EER)I P IR A A ED ARG ES E RS
H H T RMMRGTIES
TEHH - IRE - fER - M50 g BANL P B o] B SEEHE B
& LA RRERHER HN 6 &
= 1 2, 058, 900
W EER N 75
= 1 783, 100
INBH RS A OVERK: A 8 &
= 1 127, 200
3@
= 1 422, 500
m (GREHER)
= 1 422, 500
A%
= 1 422, 500
o e E
= 1 422, 500
[ERE LS
= 1 344, 170
-2 - [E 73 PEHTE R



At YRR E

¥EBAL | AT 6 EER)I P IR A A ED ARG ES E RS
H H [EREZ Y
HH - TR - FHI - 5] g BANL & B o] B2t SEEHE B
[EREF TS
= 1 344, 170
Tk AL I
= 1 168, 170
ik aZimt (i E) w10 &
= 1 168, 170
CERED® S0 % ¢
= 1 176, 000
BT AR S ERC 2 H 11 =

= 1 176, 000

EREFA (Z OB L)
= 1 11, 630, 770

& OAth A
= 1 6,077, 834

— RS EL
= 1 9, 531, 396

-3 - [E 73 PEHTE R



ARE

¥EBAL | AT 6 EER)I P IR A A ED ARG ES E R ER
H H SEMmAS
HH - TR - FHI - 5] g BANL & B o] B2t SRRV e

B S

= 1 217, 240, 000
T B %5

= 1 2,724, 000
EGZCR

= 1 29, 964, 000

Etszmes T EIT R




\ = =5 AL 4 A 2024. 04
/5( W ﬁR A T14E A 2024. 04
— = I B AR 1. 000-0000-0000-0000-0000-1-0 0
™ 1% A E(
HH A - B eSS HAZ ok HiAit B ES
F 1 VE( N 12 &
i = 169, 000
169, 000
N = i Rl T AR 2024. 04
ﬁ( |j<J _ﬁR SEERER | 2024, 04
i H 9B AR 1. 000-0000-0000-0000-0000-1-0 0
™ 2 5 Bph
HH A - B eSS HAZ ok HiAit B ES
g*/"ﬂ%%&ﬁ Ij;] 13 %
i = 431, 700
431, 700

Etszmes T EIT R




N = i Al 4F A 2024. 04
/5( W :R AENEEN | 2024. 04
H = T AR 1. 000-0000-0000-0000-0000-1-0 0
3 & FEHROMTS
THH LT - Bk A HAL Y HAT AKR T 2
RSB E R R O BLE 2 14 &
= 1, 814, 200
BRI R HT 2 15 &
=, 332, 900
HTH AR R REAT 0O BB ERK H 16 &
=, 285, 700
2,432, 800
= i HA {45 H 2024. 04
yﬁ( W :R S |2024, 04
H = T AR 1. 000-0000-0000-0000-0000-1-0 0
4 = RO e L E O R
THH LT - Bk A HAL Y HAT AKR T 2
A ERIRIC BT D BT ME DR EE 2 17 &
= 1, 216, 600
RO e L E O R 2 18 &
= 1, 856, 200
3,072, 800

Etszmes T EIT R



N = i Al 4F A 2024. 04
/5( 2 :R AENEEN | 2024. 04
H = T AR 1. 000-0000-0000-0000-0000-1-0 0
5 & X L% OB TE R REMERGT
THH LT - Bk A HAL Y HAT AKR T 2
WTHET — X2 OB A 19 &
= 361, 400
HE RTREME O N 20 B
= 1, 027, 400
LD FE L OERMER N 21 &
= 399, 800
1, 788, 600
N = i Al 4F A 2024. 04
ﬁ( I; ‘| 0 BHENERIER | 2024. 04
H = T AR 1. 000-0000-0000-0000-0000-1-0 0
6 = & LA BERE BHER
THH LT - Bk A HAL Y HAT AKR T 2
BEEEEHMER N 22 &
= 638, 100
3 EHER: W23 5
= 1, 039, 400
KAEIE B & B 8 L 1= KRS N 24 =
= 381, 400
2, 058, 900

Etszmes T EIT R



\ = =5 AL 4 A 2024. 04
/5( W ﬁR A T14E A 2024. 04
= T AR 1. 000-0000-0000-0000-0000-1-0 0
] 75 R
THH LT - Bk A HAL Y HAT SHA T 2
W EER N 25 &
i = 783, 100
783, 100
N = Al 4F A 2024. 04
ﬁ( |j<J _ﬁR = SEERER | 2024, 04
= T AR 1. 000-0000-0000-0000-0000-1-0 0
] 8 & INBH RS S OVERK:
THH LT - Bk A HAL Y HAT SHA T 2
INBH RS S OVERK: N 26 5
i = 127, 200
127, 200

Etszmes T EIT R




N = i Al 4F A 2024. 04
1 /k P ‘l :R i FAE 2024. 04
H = T AR 1. 000-0000-0000-0000-0000-1-0 0
9 & Ied
THH LT - Bk A HAL Y HAT 4KA T 2
Tée% N 27 &
= 1 422, 500
422, 500
N = i Al 4F A 2024. 04
ﬁ( I; ‘| 0 BHENERIER | 2024. 04
H = T AR 1. 000-0000-0000-0000-0000-1-0 0
=2 ikt aZimt (i)
LT - Bk A HAL Y HAT AKR T 2
XYL
= 11, 286, 600
ik aZmt (i)
A F X0. 0149
= 168, 170
168, 170

Etszmes T EIT R



N = i Al 4F A 2024. 04
1 /j 5( W :R SEEHER 2024, 04
H = T AR 1. 000-0000-0000-0000-0000-1-0 0
CRADE S TNAD% ¢
LT - Bk A HAL Y HAT 4KA T 2
XYL
= 1 11, 286, 600
%%E}Z%&MEEE% %@{ﬂ@%§+%j’%
5. IXEANE (F1) 0. 38
= 1 176, 000| (T-FARE1 0 #570)
176, 000

Etszmes T EIT R



